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SECTION - A
i) General Awareness

“Satyameva Jayate” — Truth only
Triumphs written in which script ?

(A) Brahmi script

(B) Thai script

(C) Devanagari script

(D) None of the above

In which Session of the Indian National
Congress our National anthem Jana-

6.

Cyclonic Storm Ockhi was a strong
tropical cyclone that devastated parts
of Sri Lanka and India. It was the
tropical cyclone of which of the following
sea/ocean ?

(A) Arabian Sea

(B) Bay of Bengal

(C) Pacific Ocean

(D) None of the above

gana-mana was first sung ? 7. Every year “International Day of Yoga” is
(A) Calcutta Session, 1911 observed on which of the following date ?
(B) Madras Session, 1908 (LN, €12
(C) Belgaum Session, 1924 (((E::; Tu?é.g‘“
(D) None of the above (D) None of the above
Western Ghat and Eastem Ghat meets | 8. Who was served as the first Lok Sabhe
in which of the following hiiis ? speaker of free India ?
(A) Cardamom hills (A) K.S. Hegde
(B) Palani hills (B) Sardar Hukam Singh
(C) Nilgiri hills (C) Sumitra Mahajan
(D) None of the above (D) G.V. Mavalankar

, , 9. Which of the following convention aim:
Intemational day of non violence observed to conserve the migratory species
every year on wild animals ?
(A) October 2 (A) Ramsar convention
(B) October 23 (B) Bonn convention
(C) September 22 (C) UNFCC
(D) None of the above (D) None of the above

10. How many railway zones are there i

Iron Magic-19 a military exercise held
between which of the following countries ?

India ?

(A) USA and Japan (g) 1?
(B) India and Germany (B)
(C) 15

(C) USA and UAE

(D) None of the above

(D) None of the above
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WA - A
i) T AT
HeAHE A - 1 B et 2, fbw | 6. Rl Qb St ek it
forfa o foran @ 7 SEUTeR fesi e wigherTel ot for sfiei 7R
(A) TR Rfy 9T < foel qee T | e form wm/
(B) aﬁ%ﬁ TR 7 SghaTd o 7
. _ (A) 3
AR ®) TR EE
(D) 3IFd T E HE T (C) mq?mm
TR TS FH &% - Ty | (D) 3FH H HE T
TG T S T3 Rell TR | 7 i o sieciedir i oo o
(A) HeTehel HRETH, 1911 gﬁwwg?
(B) Wz AfeayM, 1908 (A) 215F
(C) serTia AfEyH, 1924 (B) 193
(D) 3&d W HIs Tel (C) S s
el e siv it e Pkl § & (D) 3IFAH W BB TN
foFg v o fiera @ ° 8. TEaH WA % Uacl SAlehaHT Tt & T 1
(A) FTeHH & TeTfEat feher Herh ?
(B) WieTH TRTeat (A) %. TH. TS
(C) Hiafit & werfeat (g’) g@mﬁ?
p e (C) HERHE
D) S (D) . ot aEEE
T SR R S T T | o e - seht e 0
STe ¢ I} SIS ot 2 Ueh S 3l e & 7
T &g

(A) ¢ STFeat (A) THE T
(B) 23 e (B) ¥ FHaIH

) 221’%‘4@:* (C) UNFCC

D) 3%dH © T T (D) FadH U R T8
ST A Sh-19, Toh 8- e Feferfad | 4 A R TR W E 7
19 o S o s g 7 (A) 15
(A) JUHT 3T ATIH ®)
(B) WA 3R St (C)
(C) FuHT 3R 4%
(D) W & FE (D) mnaﬁgqﬁ?




12.

13.

14.

15.

The headquarters of SAARC is located at
(A) New Delhi, India

(B) Kathmandu, Nepal

(C) Kabul, Afghanistan

(D) Dhaka, Bangladesh

What is the minimum age to contest for
Lok Sabha election ?

(A) Not less than 30 years

(B) Not less than 18 years

(C) Not less than 25 years

(D) None of the above

Nobel award-2018 in physics, awarded
to the scientists for their contribution in
the field of

(A) Acoustics

(B) Nuclear physics

(C) Laser physics

(D) Astrophysics

Which of the following statement/s

is/are true about National Green Tribunal

(NGT) ?

(A) NGT setup in 2010 underthe NGT
Act

(B) It is a specialized body equipped
with the necessary expertise to
handle environmental disputes

(C) Both the options (A) and (B) are
correct

(D) None of the above

Which of the following nations severely

affected by the tropical cyclone Idai ?

(A) Mozambique, Zimbabwe and
Malawi

(B) Bangladesh and Sri Lanka

(C) Australia and New Zealand

(D) None of the above

16.

7

18.

19.

20.

MKG-XVIWTECHCIMMVAT/01

Which of the following organization
releases the “Human Development
Index” report (HDI) every year ?

(A) UNDP

(B) UNESCO

(C) WHO

(D) FAO

‘“Nomadic Elephant” a joint military
exercise was held between which of the
following countries ?

(A) India and Vietnam

(B) India and Mangolia

(C) India and North Korea

(D) India and South Korea

Which of the following rivers is not a
tributaiy of Brahmaputra ?

(A) Subansiri (B) Pagladiya

(C) Dhansiri (D) Gandak

The national calendar of India based on
which of the following calendar system ?
(A) Julian calendar system

(B) Saka Era calendar system

(C) Gregorian calendar system

(D) None of the above

Which of the following ministry have

launched O-SMART Scheme ?

(A) Ministry of Skill Development and
Entrepreneurship

(B) Ministry of Earth Science

(C) Ministry of Tribal Affairs

(D) None of the above




12.

13.

14.

15.

qTeh 1§ #feme |
(A) 3 feeedt, 9ma

(B) HTRHTS, A

(C) FEA, JATFETHEH

(D) ST, TFATSH

AREHT IE & foIe Infiearl 7
A FTE 7

(A) 3099 T & Tel

(B) 18a% W &H &l

(C) 2599 | HH e

(D) S H &I T

“iferehl 1 TEa TEHR-2018 IR
# % &7 H 37 IITEH vg fodl
T |

Bg A

TS B it WIereRer (NGT) SR Heferfiaa

T FH-ATHI AR ¢

(A) 2010 ¥ AT &1 THTIAT TS
AT & Fia g3

(B) I8 U WGy foame #1 Hamen
SRCaURETRECARE

(C) (A) 3 (B) i WEl &

(D) 3% H A HE T

Frfefaa # @ ®F -9 < SR
wyﬁﬁﬁﬂ%mﬁmnﬁﬂ?u?
A) HITifeeh, Ry ot ATl

) SATAET I AT
(C) SATeforaT 3R sficis
(D) 3% H Y HE

16.

17.

18.

19.

20.
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Fafaiad 4 9 - g A Tem
g TR T T w7

(A) UNDP

(B) UNESCO

(C) WHO

(D) FAO

fforRaa & & o <uii o off= g ¢
(A) oG 3R e

(B) ST TR HIferan

(C) SR 3R I ST

(D) W 3TN gfeqo i

f=fofaa § @ #0-9 38 swgs A
(A) g (B) werteal

(C) =l (D) TsF

TG &1 T o= Fefrfaa ® 9 o
T YOTIeA} TR ST @ 7

(A) SEfeTER T=FT JOTTet

(B) Y& Had Y=l JUTTeAl

C) firtias v=m yoret

(D) JFAH Y FE el

fferfiga § 9 form wer@ 7 O-SMART
AT SARA AR 7

(A) Hiee foem 3T I 5
(B) g™ HARE

(C) SHSG TATT

(D) 39 H U HE Tel
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ii) General Intelligence and Reasoning Ability

21. Find odd man out, 3, 5, 7, 15, 17, 19.
(A) 15
(B) 1
(C) 19
(D) 7

For questions 22 and 23 refer to the data
below :

A+Bmeans Ax B
A=Bmeans A-B
AxBmeans A+ B
A—-BmeansA +B

22. Findthe value of 28 -4 x 3 + 10.
(A) 1
(B) O
(C) 2
(D) 3

23. Findthevalueof 5x5+1x5+2x5+3.

(A) 15
(B) 2
(C) 2
)

(D 35

24. During the past year, Josh saw more
movies than Stephen.

Stephen saw fewer movies than Darren.

Darren saw more movies than Josh.

If the first two statements are true, the
third statement is

(A) True

(B) False

(C) Uncertain

(D) None

25.

26.

27.

28.

Ais B's sister. C is B's mother. D is C’s
father. E is D’s mother. Then how is A
relatedto D ?

(A) Grandmother

(B) Grandfather

(C) Daughter

(D) Granddaughter

RAIN : DRIZZLE

(A) SWIM : DIVE

(B) HOP : SHUFFLE
(C) JUGGLE : BOUNCE
(D) RUN : JOG

The wages of 8 men and 6 boys
amounts to T 33. If 4 men earn ¥ 4.50
more than 5 boys. Determine the wages
of each man and boy.

(A) T1.5,¥3 (B) 3,15

(C) 25,%2 (D) 2,325

Fact 1 : All hats have brims.

Fact 2 : There are black hats and blue
hats.

Fact 3 : Baseball caps are hats.
If the first three statements are facts,
which of the following statements must
also be a fact ?

I. All caps have brims

Il. Some baseball caps are blue
Ill. Baseball caps have no brims

(A) lonly
(B) Il only
(C) I, 1andlil
(D) None
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i) WrIT gigEn aun arfhes AT

21. wEuTEgAT 3, 5, 7, 15, 17, 19

(A) 15
(B) 17
(C) 19
(D) 7
Y T 22 AR 23 & foru i i aei |

A+BEFTAA2Ax B
A+B #HT3i2 A-B
AxB FT32 A+B
A-B FTHI2A:B

22 28—-4x3+10FHAFAH |
(A) 1
(B) 0
C) 2
(D) 3

23, 5x5+1x5+2x5+3F HH Jd A |
(A) 15

(B) 2
(C) 25
(D) 35

24, Tiwe 991 & <A, ST 3 W6 9 i
fored o |
9 3 S5 850 Thed o |
o 13 W9 Y e e T i |
72 veal 31 Y UA o, A1 e He R
(A) 99
(B) 89
(C) fRfmm
(D) T

25.

26.

27.

28.

A BFIsE12 IC,BFIAIZ ID,CH
fiar | E, DFIHIR 1A, D ol &R
et 7

(A) <TEt

) ~y
(C) =&
(D) dreft

TR : HeEal
) AT DA

(B) 3BT ; HeT

(C) T ST : S HRAT

(D) BreAT: ¢t e

8 ITTEfHAT 3T 6 TASH 1 A &1 Fel
TfsT 2 33 2 |aﬁ'4m5mﬁﬁ
3 4.50 SITET FHM & q1 T3S ATGH] 3R
SECIEARECURIGE S

(A) $1533 (B) 3,315

(C) $2532 (D) 22,325

q2a 1 i e WIFH 2 |
A% 2 el I AA BT R |
qeq 3 : JEEid AT 2 ® |
gfe Teat A Sua 9= 2, @ Fefafaa d
¥ S -9 HYA 1 UF 72 TAT I1RY, ¢
. Tt 2rfoE o A # |
. FS STETA AT e 3 |
. SEaTe 2iuar W R = E |

A) |FA
(B) lladt
C) |1, 1137 Il
D) ®F& Tal
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29.

30.

31.

S friends P, Q, R, S and T are sitting in
a row facing North. Here, S is between
T and Q, Q is to the immediate left of R.
P is to the immediate left of T. Who is
in the middle ?

(A) S

(B) T

(C) Q

(D) R

Here are some words translated from

an artificial language
granamelke means big tree
pinimelke means little tree

melkehoon means tree house

Which word could mean ‘big house’ ?
(A) granahoon

(B) pinishur

(C) pinihoon

(D) melkegrana

If RED is coded as 6720 then GREEN
would be coded as

(A) 9207716

(B) 167129

(C) 1677209

(D) 1672091

32.

33.

34.

35.
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The total cost curve of the number of
copies of a particular photograph is
linear. The total cost of 5 and 8 copies
of a photograph are ¥ 80 and ¥ 116
respectively. The total cost for 10 copies
of the photograph will be

(A) 100

(B) ¥ 120
(C) T110
(D) T 140

Find the missing number.

8y 2 1 916, 25,41, 7
(A) 65
(B) 66
(C) 67
(D) 68

RATES : ENGRF : : DWELT :
(A) PRSTA
(B) RYJYM
(C) QJRYG
(D) RIMKN

If PAINT is coded as 74128 and EXCEL
Is coded as 93596, then how would you
encode ANCIENT ?

(A
(

2451928
4251928
4251982
4261892

)
B)
(C)
(D)




29.

30.

31.

5 fist P, Q, R, S 3 T I &t 3R 4
Fh EUFI A ASE | TET S, TIMQH
fFEAR IQRFTATNR | P, TH A
AR IHH AR ?

(A) S

B) T

©) Q

(D) R

T U Fhm 9T ¥ FS W64 Ifed
granamelke 1 374 2 big tree
pinimelke =hT 379 2 little tree

melkehoon %1 37¢ ® tree house

form w12 =1 239 ‘big house’ BRI 2
(A) granahoon

(B) pinishur

(C) pinihoon

(D) melkegrana

If¢ RED ®1%< 6720 7 A1 GREEN T
ETAUL

(A) 9207716

(B) 167129

(C) 1677209

(D) 1672091

32.

33.

34.

35.
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sy wremms ) gfafafat #
T 61 Fel HWA FT 9% 1EH 2 | Th
BT 1 5 31 8 wfafiftaT i e @
FOI: T 80 3TN T 116 T | HIEWTH FHi
10 Sttt it gt @rma 2t

(A) T 100

(B) T 120

(©) T110

(D) % 140

o T I
52,7,9,6 16, 25,41, ?
(A) 65

(B) 66

(C) 67

(D) 68

RATES : ENGRF : : DWELT :
(A) PRSTA
(B) RYJYM
(C) QJRYG
(D) RJIMKN

IfE PAINT %1 e 74128 3R EXCEL
FTHE 93596 2, AT ANCIENT T 2 T
TATT 2 |

(A) 2451928
(B) 4251928
(C) 4251982
(D) 4261892




Direction for Q. No. 36 and 37 :

5 cars are owned by 5 different men and each

of them play one of five different games.

Cars — Brown, Orange, Red, Green, Yellow

Men - C,D,E, F, H

Game — Basketball, Volleyball, Cricket, Table

36.

37.

tennis and Football

D likes to play Basketball

The one with the Green car plays
Football

D has a Red car and H does not like
Volleyball

E plays Cricket and has Orange car

F plays Table tennis and does not
have a Brown or Red car

Who plays Volleyball ?
(A) C
(B) D
(C) H
(D) F

Who has got Green car ?
(A) H
(B) D
(C) C
(D) F

38.

39.

40.
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A, B, C, D, E and F belong to a family
that has two married couples. No one
from the third generation is married.
C is F's mother-in-law. D, E and B are
A's teenaged older sister, father and
grandfather respectively. Who is D’s
father ?

(A) A

(B) B
(C) C
(D) E

Find the wrong terms of the series
9, 29, 65, 126, 217, 344.

(A) 65

(B) 126

(C) 9

(D) 29

A man starts from his house and walks
eastwards for 10 mts. He then takes a
left and walks 10 mts and again turns
left and walks 10 mts. Here, he takes a

right and walks 5 mts. In which direction

is he walking ?
(A) North
(B) South
(C) East
(D) West




%ﬁwasaﬂ?w%%@ﬁﬁw;
fim-feoaaaa® |
f#adl — C, D, E, F, H

T — Fiehedd, didid, e, oad

A
%;
/

1. DI a&hEA Qo] T6e 2

2. T BRI Fedd Wadl o

3. D T UF ATA FN 2 JAX HFT

Jict e Tge 98 &
4. ETFrFewama? o sad gt Fr 2

5. F ood oY Weldl & 31K 38 M T
97 ot R T R

36. didAlEid H Gl ?
(A) C
(B) D
(C) H
(D)

37. sl&n fFus a7
(A) H
(B) D
(C) C
(D) F
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38. A,B,C,D, E3NFUusIiaras e e
faafeasie 8 | died i # =% ffafRa
"2 IC,F fAITER ID,E3NB,AS

fereTe =t e, foar ot s oA © |
D& AT 2 ?
A) A

39. #@d ¥ Ted 98 FHT |
9, 29, 65, 126, 217, 344

40. UF SATFd 209 O ¥ T ITHA HLT 2
3fit 7@ <l TR 10 Hit S 2 | e =l
g’m%mwww 3 TRt =d
et 10 Hiet Jaar 8 | 39 I qEHt

5 Hiex ST @ | 98 fohe e = @ e ?

(A) FX

B) aferm




41.

42.

43.

45.

A9-
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ili) Arithmetical and Numerical Ability

The angle of elevation of the top of a
tower from a point on the ground which
is 30 m away from the foot of the tower,
is 30°, then the height of the tower is

(A) 30m (B) 10v3m
_ 10
(C) 3043m 0 F™

Some students planned a picnic. The
budget for food was Rs. 500, but 5 of
them failed to go and the cost of food
for each member increased by Rs. 5,
then the number of students who went

to picnic is
(A) 20 (B) 25
(C) 30 (D) 15

The length of the minute hand of a clock
is 14 cm, then the area swept by the
minute hand in 5 minutes is

154

(A) -?cmg (B) 51cm?
, 157 o
(C) 35cm? (D) —5-°m

The product of two numbers is 19200
and their HCF is 40, then their LCM is

(A) 48 (B) 480

(C) 240 (D) 120

¢ 5, 1o 8 8
x—-1 y-2 x-1 y-2

then (x, y) =

(A) (4,5) (B) (5, 4)

il
(©) [;,g] (D) (-4, 5)

46.

47.

48.

49.

50.

If the interest on Rs. 800 be more than
the interest on Rs. 400 by Rs. 40 in
2 years, then the rate of simple interest
per annum (in %) is

(A) 5% (B) 6%

(C) 5.5% (D) 4%

In a mixture of 35 litres of milk, the
ratio of pure milk and wateris 4 : 1. If
another 7 litres of water is mixed to the
mixture, the ratio of milk and water in
the resulting mixture becomes

(A) 2:3 (B) 3:2

C) 1:2 (D) 2:1

The radii of two circles are 19 cm and
9 cm respectively. The radius of the
circle which has the circumference
equal to the sum of the circumferences
of the two given circles is

(A) 21 cm (B) 10cm

(C) 28cm (D) 27 cm

If the sum of 3 consecutive numbers is
183, then the numbers are

(A) 59,60,61 (B) 60,61, 62
(C) 60,6264 (D) 58,60, 62

A metallic sphere of radius 4.2 cm is
melted and recast into the shape of a
cylinder of radius 6 cm. The height of
cylinder thus formed is

A 943 cm B) 2
(C) 3cm (D) Tj cm
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41.

42.

43.

44.

45.
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jif) FTERTIOTH N Uet ST Tl

I % AR H 30 7l U SHIA W foig
% 1Y SHICE o YIS 1 319 10T 30° 2,
I 3HRG 1 918 ©
(A) 30+

(B) 103
5 10

(C) 303t (D) @Iﬁ

T o I a912 €. 500 97 9g 37H |
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5 1 6 3
afe 2 4. L e G
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(A) 4,5) (B) (5,4
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46.

47.

48.

49,

50.

gfe 2 991 § . 800 W THATAT TS
F. 400 T oHET sT 9 5. 40 31(eF 2,

Al HTEROT AT 1 gfd 98 < 2
(A) 5% (B) 6%
(C) 5.5% (D) 4%

T4 35Tt & AU H 38 39 S STA T
YU 4: 17 | AfE 3TN 7 fret 5/ T
% fererm sar 2, At it e H g
(A) 2:3 B) 3:2
(C) 1:2 (D) 2:1
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(C) 28T (D) 273w
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52.

53.

54.

55.

56.

Value of _21an30

1+tan° 30° -
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sin 30°

A line intersecting a circle in two points
is called a

(A) tangent

(B) radius

(C) secant

(D) none of these

Sum of the areas of two squares is
468 m2 If the difference of their
perimeters is 24 m, the sides of two
squares are (in metres)

(A) 23,12 (B) 18,12

(C) 16, 18 (D) 14,16

If the average age of A and B is
18 years, that of B and C is 17 years
and that of C and A is 20 years, then
the age of A is
(A) 20 years
(C) 19 years

(B) 18 years
(D) 21 years

Among /2, %,0.01, — 8, one which is not

a rational number is

3
() 2 B) 5
(C) 0.01 (D) -8

By selling a pen at Rs. 250, the profit
made is Rs. 50, then the cost price of
the pen is

(A) Rs. 300

Rs. 225

Rs. 200

None of these

(B)
(C)
(D)

57.

58.

59.

60.
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A quadratic equation whose roots are

L and = 0 IS
5 10

(A) *+35x+3=0
(B) 50x2+35x+3=0
(C) 50x2-3=0

(D) 10x*+35x+3=0

The 13" term of an A.P., in which the
6" term is =2 and the 9" term is -5 is
(A) 8

B)
C)
(D)

o

-9
—8

A man had to walk a certain distance.
He walked half the distance at a speed
of 6 km/hr and the remaining half at a
speed of 5 km/hr. If the total time taken
was 11 hours, the distance he walked
was
(A)
(B)
(C)
(D)

50 km
75 km
60 km
70 km

If the sum and product of zeroes of a
polynomial are =3 and 2 respectively,
then the quadratic polynomial is

(A) xX2=3x+2

B) x*=3x-2

X2+ 3x+2

D) none of these




51.

52.

53.

54.

55.

56.

-15-

2tan 30"

S WUAT
1+tan” 30
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sin 30°
T g9 &I QA gl W Ufd=se HH 1)
(A) TEiEn
(B) =
(C) ®5*
(D) 370 & & T

31 1 & SFhAT &1 AT 468 Wiz R | IR
39 TRHTI T 37at 24 Hi 7, o1 9t

eImd B (w1, )
(A) 23,12 (B) 18, 12
(C) 16,18 (D) 14,16

afe A 3t B 3ia 21y 1899 2, B3R C
#1799 2t C 3 A1 2099, AT AR

A FR 7
(A) 2099 (B) 189N
(C) 194y (D) 214

J2, %,0.01' ~8, 1 ¥ 9% U |1 IRAY
T T ®

3
(A) V2 (B) 3

(C) 0.01 (D) -8

T P I E. 250 WA WAM %. 508,
AR FFATA D

(A) % 300

(B) %225

(C) %200

(D) $H A HE TE

a7.

58.

59.

60.
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o e e e — > S 5 2
(A) x*+35x+3=0

(B) 50x*+ 35x+3=0

(C) 50x¢-3=0

(D) 10x*+35x+3=0

0eh HTAE 10 T 13 91 ug Fam BT foreeht
6af4g -2 3R 9ATTE-5%2 ¢

(A) 8

(B) 9

(C) -9

(D) -8

U AfEd 1 5O G A H1 ¢ | T8 A
it 6 forrt /vier it fa & T L @ IR
Tt gt 5 et /erer i & T FATR |
afe et foram T e 11 HE 2, @ 36
F a1 s g off

(A) 50 Tt

(B) 75 farHt

(C) 60 ot

(D) 70 T

212 T SR o Y R A SIS
FHIT: -3 3N 2 R, A fEma sgudia 2
(A) X2—3x+2

(B) x2—3x—2

(C) X2+ 3x+2

(D) W A FE Tl
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iv) Hindi Language and Comprehension

&=y sk =y
61. FHU ST YEE TH Yo w2 7 | 67. g+ =il 1wT___ =|frd |
(A) 3T (B) T (A) If& (B) ToT
(C) Tty (D) fAfer (C) a7 (D) @
62. 9 +3ql= 68. ‘Tafga ug = avie=e frfaw |
gﬁ :s;:z‘% (A) I +3+B+T+3+7
B) d+3+8++3+d+H
63. 4 THT % forw Fue wiie | WA (C) S+3+B+3+q+q+ A
T o TN R & 7 (D) +3+B+3+A+F+7
(A) HY&H
(B) ITTISH 69. FT TY Yee T Ifer ¥ frfau |
(C) =T (A) =it
(D) wH (B) <=
64. 3TH AT | AT Dehi AT (C) <awH
_ fosmwmz (D) <=
Eg; PSS, 70. m;mw :
e A
Eg)) i ) G Y U T %) Jfsst T8 A
AT HEET @) TZEA
65. ‘Tl YIee &l IS G2 2) 37 e ) W I
(A) Tl (B) widar 3) 9% F %) e & e
(C) Wi (D) T § H T e T
66. T A1 3tfereh e W S g8 Te, Wl =) STl 9 R =
A FEAE | ASALE RS
(A) T AT T 9&F
(B) = (W) B F T @F T
(C) I=4 C @ T T & H
(D) foram D) T & HE@ §
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3) g
3T) -G
3) Freaes

%) AegEY THTE
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I AT T E I

(A) =
(B) @
(C) T
(D) &

¥ @ § 7
g M9
% ¥ @@ §
g TE =&

72, TEEGE ¥Ieq o1 379 ©
RECEEISERE G
(B) STeih! @ ISR gl a%
(C) F& I A &
(D) T 9 T (TN) T8

73. d9q: +UE =
(A) SIFEIE
(B) SgwE
(C) wIgHis
(D) g9

74. TG ¥e8 1 g §U 2
(A) Tagman
(B) fagmTd
(C) Tas=m
(D) fagw

7=

73

76.

77.

78.

79. °

80.
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Fraforfra aort & ve 3 visg Fwior ifem |
F+A+ A +q+ A=

(A) @@ (B) Fm@

(C) FATd (D) AT

e JEt TIE R |
(A) &%
(B) FHURH

(C) TeTeS
(D) wElife

TTaT o= R @1 Radrdt 8 | 9% 9
IR |

(A) FHaT=H

(B) heer=d

(C) WEITH

(D) g T

Rraeht e, 3oeht 9 | sH IR N gEam B
(A) TSEeht

(B) @

(C) #w

(D) =% e

FUTOT V158 1 47 371 2 7
(A) FIIHH TARE

(B) TEER

(C) F HTATT

(D) I
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v) English Language and Comprehension

3 AT iR Ay
Identify the underlined words in the following | 86- Heworked hard, ____he couldnot
sentences. get a rank.
(A) still
81. It was the ghastly apparition of an old (B) yet
man. (C) o)
(A) adverb (D) for
(B) pronoun
(C) adjective Fill in the blanks with suitable preposition.
(D) preposition
87. lhavenotmethim___ yesterday.
82. The directors ruined themselves. (A) from
(A) pronoun _
(B) adjective (B) since
(C) conjunction (C) for
(D) noun .
(D) in
83. He signed the letter. _
(A) noun 88. Do not expect any help from them
(B) pronoun June.
(C) verb (A) at
(D) adverb ®) to
84. This is the desk which he invariably (C) till
wrote at.
(Ar) ve_rb (D) none of the above
(B) helping verb Use suitable question tag.
(C) linker

(D) preposition

Choose suitable linker to fill in the blanks.

85. She behaves _
queen.
(A) if
(B) asif
(C) though
(D) but

she were a

89. She sings songs, ?
(A) is she (B) isn't she
(C) does she (D) doesn't she
90. Apama came here last Sunday, _ ?
(A) was she

(B) wasn’t she
(C) didn’t she
(D) doesn’t she




Fill in the blanks with appropriate article.

o1. Ganga is a holy river.
(A) A
(B) The
(C) An
(D) Not needed

92. Mount Everest is the highest

peak in the world.
(A) The

(B) A

(C) An

(D) Not needed

Choose the sentence which is grammatically
wrong.

93. (A
(B)
(©)
(D)
(A)

The scenery of Kerala is very
beautiful

The guests left their luggage in the
hotel

The cattles are grazing in the
field

This is a two year old boy

94. Some ill people refuse to take

medicine

| answered her as casually as
possible

| will be ready to leave by 5 ©’ clock

Which was a better story of the
two ?

(B)

(C)
(D)

Find the word that is most nearly the same in
meaning as the words in capitals.

95. INNATE

(A) Natural

(B) Extraneous
(C) Adventitious

(D) Extrinsic
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96. VICIOUS
(A) Light * (B) Moderate
(C) Furious (D) Soft

Choose the correct passive form for the
following sentence.

97. “Someone pulled the bell”.
(A)
(B)
(&)

(D)

The bell pulled by someone
The bell was pulled by someone
The bell has pulled by someone

The bell has been pulled by
someone

98. ‘Your books have given me wisdom’.

(A)

Wisdom has been given by your
books

Wisdom have been given by your
books

Wisdom was given by your books

Wisdom had been given by your
books

Pick out the word that is nearly opposite in
meaning to the words in capitals.

99. BURY
(A) Conceal
(B) Embed
(C) Digin
(D) Exhume

SANGUINE
(A) Optimistic
(B) Genuine
(C) Pessimistic
(D) Altruistic

100.
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SECTION-B
Post Specific Subject — Related Questions

101, Which is the birth place of automobile ? | 107. The portion of the automobile without
(A) France (B) Germany body is called
(C) Japan (D) China (A) Frame
: B) Integral frame
102,  Who is considered to be the father of B Integrs
The Automobile ? (C) Chassis
(A) Captain Nicholas Cugnot (D) Unitized body
(B) R“(_jOIf el 108. The body structure is designed in such
(C) Felix Wankle a way as to combine the function of the
(D) Carl Benz body and frame is called
108. In 1876, Otto and Langen in Germany (A) Frameless Construction
invented and designed an (B) Framed Construction
(A) External combustion engine (C) Conventional Construction
(B) Internal combustion engine (D) Similar frame Construction
(C) Steam engine _ _
(D) Gas engine 109. Thg type of .susper)s.lon system in
which there is no rigid axle
104. In India, the first motor car appeared in (A) Conventional system
1938 with taxi cabs in (B) Independent system
(A) Calcutta (B) Delhi (C) Rigid system
(C) Madras (D) Bombay (D) Strut system
105. Hindustan Motors Ltd. manufactures 110. Radial engines mostly used in
trucks and cars at _
(A) Bombay  (B) Caloutta S asomoulies
(C) Jaipur (D) Madras (B) Marine
(C) Aircraft
106. Which gears used for providing main (D) Stationery
speed reduction between the engine
and driving wheels ? 111.  Rotary piston engine was invented by
(A) Final drive gears (A) Dr. Felix Wankel
(B) Hypoid gear (B) Dr. Rudolf Diesel
(C) Synchromesh gear (C) Nicholas Cugnot
(D) Progressive gear (D) Carl Benz
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101

102.

103.

104.

105.

106.

T -
aree vatires Aeg—daut uwe

. AW il T R E S 7
(A) %E (B) S

(C) STIM (D) =

2 TOMER T S Thd ed 87
(A) Fee Fees S

(B) &% SNl

(C) fered A

(D) Fel &

1876 TSI SN TR W -1 1 T
1 AT T3 TR fesrsa s |
(A) STEd %A 351

(B) 3aRes <& 9

(C) W9 IS

(D) ETSH

TR ! Ugelt Het R 1938 # q
S S o T 3T |

(A) TheTehel (B) Teeeht
(C) W=™ (D) wiwst

fogwam ared forfice s g
AR |
(A) ST
(C) S
S5 3R e Ifedl & st G Tid UM
FiuaRd R M Ea s ?

(A) Wi 3Rd fa

(B) TwUES

(C) Tammwr Fier

(D) TmfdE firm

(B) hedehl
(D) Hs™
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109.

110.

111.
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o il =1 SeWETEA FT 9
FEAMT® |

(A) A

(B) 3feue 3w

(C) =fEm

(D) THihd Sigl

R g1 30 vehR feeEs s @ R
YRR &1 [ 3R e HI SIS 6,
FEATIES |

(A) rEwa R

(B) srwTa FHiu

(C) TRufEs Feio

(D) wH gran

TolE (TEIE) T 1 YR e 56
T el gl

(A) TRUREH Joredt

(B) a3 Yot

(C) & Wl

(D) HERT YoIed!

e S99 IfRa: T
BT |

(A) IR

(B) Sieitd I

(C) T SEN

(D) G Tt

Tt o 35 1 MfashR EG
T |
(A) . Hiora daa




112. The engine is preferred to be mounted
at how many points ?

(A) One (B) Two
(C) Three (D) Four

113. The material of the piston pin is
(A) Silicon steel

(B) Pressed steel

(C) Case hardened steel

(D) Alloy steel

114. Generally the cross section of the
connecting rod is
(A) C-in section

(C) l=in section

(B) H-in section
(D) L-in section

115. The actual output available at the
crankshaft is called
(A) Brake horse power
(B) Thermal horse power
(C) Indicated horse power
)

(D) Friction horse power

116. The device used to check the engine
timing markings is
(A) Stroboscopic light
(B) Stethoscope
(C) Engine scope
)

(D) Oscilloscope

117. A vehicle is subjected to rocking
chair action or rotating action about
a transverse axis through the vehicle
parallel to ground is called

(A) Bouncing

(B) Rolling

(C) Pitching

(D) Skidding

118.

119.

120.

: v

122.
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The necessity of sleeve/slip joint in the
propeller shaft is to

(A) Vary the angle
(B) Vary the height
(C) Vary the width
(D) Vary the length

Fluid drive will be acting as an
(A) Automatic gearbox

(B) Automatic gear train

(C) Automatic gear drive

(D) Automatic clutch

The device used in the vehicle to
control the directional changes is

(A) Clutch (B) Gearbox
(C) Steering (D) Differential

The engine in which there are three
power cycles in each revolutions of the
rotor

A) Rotary combustion engine
B)
(C)
(D)

(
(B) Inline combustion engine
Reciprocating combustion engine

Free piston combustion engine

The angle between the centerline of the
tyre and the vertical is called

(A) Caster
(B) Camber
(C) King pin inclination

(D) Combined angle




112, S 1 e sl mmg gudn =
e S ST R 7
(A) TH
(B) =
(C) =
(D) IR

o fom wrert @
(A) Tofersi e
(B) SoEIRG Wi
(C) FG s ¥
(D) Tayugw&a

113.

114. AN S I STTIE HTE THTC: &
(A) H-FTRHE (B) TI- 3 TRWH

(C) ¥B-3 ¥R (D) TH- 37 HavH

115.  SHhITHe W 3UTsY SRAfds TEF ©
(A) S 2999 vIfFd
(B) &g 37w wifda
(C) Tl s wifF
(D) =N 7% Vifed
116. 35H THY =T 1 71 % & forg
(A) TR T
(B) TUEHIT
(C) 3=H &N
(D) ATEARERY
117. U e oI U TSR g o TE - T
FeaAT el
(A) =T (B) Ufem
() fafem (D) fesfem
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119.

120.
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122.
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TR YT o &t/ FeeTa g &hl STasaeal
Td el

(A) B FEH &g

(B) F=T e T

(C) =V s v

(D) TR SaeH &g

I # fenfra seera 1 Fafa & ag
ERERICER:
(A) T

(C) wafar

(B) TrawiEw
(D) “FaFd
98 Soi foram et 3 Ik WU 3 i
(A) Tt geA

(B)
(C)
(D)

TR &84 591

el GE 9
e foee 98 3o

TR 3TN AT h R [T S w5
O FEdElel

(A) FEX

(B) F=T

(C) o fom e
(D) HIFFI




123.

124,

125.

126.

127.

The unit which stores the energy
during the power strokes and delivers
it out during the other stroke to keep
the crankshaft moving at the uniform
speed

(A) Vibration damper
(B) Flywheel

(C) Torque

(D) Convertor

The maximum amount of current that
a battery can deliver based on the
number of plates and on the area of
the plate surface in contact with the
electrolyte is called

(A) Battery capacity
(B) Battery efficiency
(C) Battery voltage
(D) Battery rating

The specific gravity of lead acid battery
electrolyte is measured by an instrument
called

(A) Cell tester
(C) Hydrometer

(B) Multimeter
(D) Tachometer

Topping up of the battery is done by
adding

(A) Electrolyte

(B) Sulphuric acid
(C) Distilled water
(D) Hydrochloric acid

In the alternator charging circuit how to
change the altemating current to direct
current

(A) By using carbon brush
(B) By using copper brush
(C) By using rectifiers
(D) By using slip rings

128.

129,

130.

131.

132.
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At low speed of the engine generator
will not supply current to the battery but
the current will flow in reverse and the
battery will gets discharged to avoid this
a switch is used called as

(A) Current regulator
(B) Voltage regulator
(C) Cut out relay
(D) Solenoid relay

In automobile vehicles for starting the
engine starter motors used is of

(A) Shunt wound
(B) Series wound
(C) Parallel wound
(D) Stunt wound

The unit usually connected across the
contact breaker is used to reduce arcing
and pitting of the contact breaker points
as well as intensify the spark

(A) Diode (B) Rectifier

(C) Condenser (D) Coil

The closed period of contact points/
angle between the cam lobes is called

(A) Dwell or cam angle
(B) Ignition timing
(C) Steering angle
(D) Tuming angle

The mechanism which consist of a
diaphragm which automatically advances
and retards the ignition timing according
to the engine speed and operation
condition.

(A) Centrifugal advances mechanism
(B) Vacuum advances mechanism
(C) Manual advances mechanism
(D) Servo advances mechanism




123, I THE S ViFd EWE F THT FS1 B

124.

125.

126.

127.
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(A) &l X (B) HediHieX
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130.
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133. The contact breaker point gap is 139. Hydraulic brake system is based on
checked by using (A) Pascal’s law
(B) Newton'’s law

) Wiregauge (B) S
(A) Wire gauge (B) Screw gauge (C) Henry's law

(C) Sheet gauge (D) Feeler gauge (D) Charle’s law

134. The plug generally used in case of low | 140. Removal of air from the hydraulic
speed, medium duty, low performance brake system
engines and cold operating conditions is (A) Bleeding (B) Curing
(A) Hot plug (B) Cold plug (C) Scanning (D) Blowing

(C) Fouledplug (D) Ceramicplug | 449 The type of engine valves generally

used in the modem cars
(A) Sleeve valve (B) Rotary valve

135. The color code of automobile electrical
circuit earth wire

(A) White (B) Yellow (C) Poppet valve (D) Reed valve
(C) Brown (D) Black 142. When both the inlet end exhaust
valves are open simultaneously.

136. The device fitted in between flywheel
and gearbox is
(A) Propeller shaft
(B) Differential
(C) Clutch
(D) Over drive

This is called

(A) Valve clearance
(B) Valve overlap
(C) Valve timing
(D) Valve train

143. The sequence in which the power
impulses occur in an engine is called
(A) Firing order

137. In the clutch plate to dampen out the
undesirable vibrations the Cushioning

device is ‘
(A) Cushion spring (B) Valve timing
(B) Pressure spring (C) Ignition timing

(C) Torsional spring (D) Injection timing

(D) Coil spring

144. The unit which damps out the torsional
vibrations in the crankshaft set up by
the power impulse

(A) Free wheel

138. The device helps the propeller shaft
to rotate faster than the engine in a
transmission
(A) Over drive

B) Flywheel
(B) Torque Convertor (B) Iy ?
(C) Free wheel (C) Vibration damper
(D) Fluid flywheel (D) Fluid flywheel
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Tightening of engine cylinder head nuts
is done by

(A) Using ratchet spanner

(B) Using torque wrench

(C) Using pipe wrench

(D) Using open ended wrench

The measure of resistance to flow or
the internal friction of oil is called

(A) Specific gravity
(B) Viscosity

(C) Fluidity

(D) Flash point

The lowest temperature at which the oil
will burn continuously is called

(A) Flash point
(B) Fire point
(C) Yield point
(D) Stress point

The part which provide the seal between
the piston and cylinder wall to avoid the
escape of gases from the combustion
chamber to crank chamber

(A) Piston ring
(B) Piston pin
(C) Piston skirt
(D) Piston crown

The metals commonly used in the
radiator construction

(A) Copper and iron
(B) Copper and steel
(C) Copper and silver
(D) Copper and brass

150.
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Which of the valve which opens when
the cooling system warms up ?

(A) By-pass valve
(B) Thermostat valve
(C) Blocker valve
(D) Reed valve

In the diaphragm type of clutch the coil
type of pressure springs are eliminated
by
(A) Conical spring
Thrust spring
Leaf spring
)

Laminated spring

(B)
(C)
(D

The device turns the power flow at right
angles from the propeller shaft to the
rear axle is

(A) Final drive
(B) Bevel drive
(C) Solid drive
(D) Spiral drive

A single piece rear axle housing is
called

(A) Split type
(B) Cast type
(C) Banjo type
(D) Floating type

The engine mountings are usually made
of rubber to metal bonding, which has
greater strength than rubber alone. A
widely used type of engine mounting
is

(A) Sandwich unit

(B) Rubber block unit

(C) Carrier type unit

(D) Roll type unit
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in the types of lubrication system the
lubricating oil is mixed with petrol
according to prescribed ratio during fuel
filling is

(A) Wet sump system

(B) Dry sump system

(C) Pressure system

(D) Petroil system

The removal of harmful effects of fuel,
water and sulphur particles from the
engine is called

(A) Crankcase dilution

(B) Crankcase ventilation
(C) Crankcase balancing
(D) Crankcase regulation

In the air cooling system for better
cooling, the outer surfaces of the
cylinder are provided with

(A) Finsorribs (B) Pumps
(C) Blower (D) Jacket

The property of a liquid is its vaporizing
ability is known as
(A) Volatility

(C) Oxidation

(B) Anti-knock
(D) Deactivator

The type of fuel feed system employed
in motor cycles and scooters

(A) Autovac feed system
(B) Pressure feed system
(C) Gravity feed system

(D) Autosac feed system

In the carburettor the process of splitting
the fuel into atoms or fine droplets is
called

(A) Evaporation
(C) Atomization

(B) Vaporization
(D) Carburation
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The process of changing the liquid fuel
into vapors

(A) Evaporation
(B) Vaporization
(C) Atomization
(D) Carburation

A square engine is an engine having
(A) Cylinders of square in cross
section

Combustion of square in section
Bore and stroke equal

Piston head of square in section

Which of the following gauge is used to
measure the cylinder bore diameter ?

(A) Telescoping gauge
(B)
(C)
(D)

Screw gauge
Feeler gauge
Pitch gauge

In the industrial application, the surface
that should be flat can be checked by
using

(A) Feeler gauge

(B) Straight edge

(C) Marking gauge

(D) Depth gauge

The type of blower or compressor which
accelerates the flow of fresh charge into
the engine cylinder is

(A) Super charger
(B) Turbo charger
(C) Blader charger
(D) Root charger
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Which type of fire extinguisher is used
when oil gets fired ?

(A) Water type
(B) Foam type
(C) Carbon dioxide
(D) Powder type

Which type of washer is used with the
oil pan bolts to help to seal the pan to
block ?

(A) Spring washer

(B) Copper washer

(C) Hardened washer
(D) Compression washer

The tool used for hand cutting internal
threads '

(A) Hand Tap set (B) Hand Die set
(C) Hand Drills (D) Hand Screws

Which of the following gauge is used to
measure the distance between the two
parallel surfaces ?

(A) Depth micrometer
(B) Telescoping gauge
(C) Micrometer
(D) Dial gauge

The heads of steel faced hammers are
made from the material

(A) High grade alloy steel
(B) High carbon steel

(C) Cast iron

(D) Mild steel

In the diesel fuel injection pump a
fixed control setting and adjusting the
deliver quantity of fuel per stroke of
each plunger to all the cylinders is
known as

(A) Calibration

(C) Distribution

(B) Phasing
(D) Injection
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In motor cycles the type of crankshaft
used is

(A) Single piece crankshaft

(B) Built-in crankshaft
(C) Mono type crankshaft
(D) Web type crankshaft

The stroke of any engine is

(A) Twice the crank throw

(B) Half of the crank throw

(C) Equals to crank throw

(D) Four times the crank throw

Which of the following is used as bearing
liner material for automobile engines ?

(A) Gun metal
(B) Bronze

(C) Bell metal
(D) Babbit metal

The transmission system transmits
from engine to wheels.

(B) Power
(D) Pressure

(A) Speed
(C) Current

The material of the distributor cap is
(A) Hard Rubber (B) Hard plastic
(C) Bakelite (D) Brass

In the transistor assisted ignition
system contains a transistor ignition
unit in addition to other components of
conventional ignition system except

(A) A coil

(B) A condenser
(C) A spark plug
(D) A governor
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178. Breaker less ignition system is also
known as
(A) Transistor assisted ignition
system

(B) Conventional ignition system

(C) Electronic ignition system
(D) Electrostatic ignition system

179. Usually progressive type of gearboxes
are employed in
(A) Cars (B) Trucks
(C) Motorcycles (D) Trains

180. An overinflated tyre will wear the tread
most near the
(A) Edges (B) Corners
(C) Centre (D) Middle

181. An underinflated tyre will wear the tread
on the
(A) Edges (B) Sides
(C) Centre (D) Middle

182. The function of torque is similar to that
of a
(A) Clutch
(B) Fluid flywheel
(C) A gearbox
(D) A differential

183. The angle between the central plane of
tyre and the direction of motion is known
as
(A) Slip angle

(B) Included angle
(C) Vertical angle
(D) Sliding angle
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Which is used in the suspension system
to control the body roll ?

(A) Stabilizer bar
(B) Drop arm

(C) Shock absorber
(D) Leaf spring

Damper is also known as
(A) Shock absorber

(B) Torsion bar

(C) Spring

(D) Radius rod

Which of the following is used to store
and release electrical energy ?

(A) Contact breaker
(B) Capacitor

(C) Ignition coil
(D) Relay

The lever attached to the steering
sector shaft, it converts rotary motion
of steering shaft into linear motion

(A) Steering arm
(B) Pull rod arm

(C) Wheel am

(D) Pitman/drop arm

The modern petrol engine works on
(A) Otto cycle

(B) Carnot cycle

(C) Diesel cycle

(D) Rankin cycle

The cylinder block is usually made
from

(A) Mild steel

(B) Gray cast iron
(C) Wrought iron
(D) Carbon steel
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Hydraulic valve tappet clearance is
(A) 1.980 (B) 1.280
(C) 1.586 (D) 0.000

The unit which splits the power from the
transmission between the front and rear
axles is called

(A) Difterential
(B) Over drive
(C) Clutch

(D) Transfer case

A two stroke diesel engine was
built by

(A) Dugald Clark
(B) Rudolf Diesel
(C) Captain Cugnot
(D) Oliver Evans

Which of the following drilling machine
designed for drilling small holes at high
speed in light jobs ?

(A) Portable drilling machine

(B) Sensitive drilling machine

(C) Semi universal machine

(D) Universal machine

Which of the following is used when it
is necessary to drill a hole parallel to
another surface ?
(A) Angle plate
(C) V4-block

(B) Step block
(D) Press vice

The accurate way of sizling and finishing
a hole which has been previously drilled
is called

(A) Boring

(C) Lapping

(B) Reaming
(D) Tapping
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The diesel engine was invented by a
German engineer

(A) Rudolf Diesel
(B) Captain Cugnot
(C) Oliver Evans
(D) Walter

The type of saw in which a continuous
saw blade or band runs over the rim of
two wheels is called

(A) Band saw

(B) Circular saw

(C) Reciprocating saw
(D) Hack saw

The type of nozzle having an auxiliary
spray hole to assist easy starting under
cold condition

(A) Pintuax nozzle

(B) Hole type nozzle
(C) Pintle type nozzle
(D) Delay type nozzle

Tachometer in a vehicle measures
(A) Speed

(B) Distance

(C) Engine r.p.m.

(D) Fuel consumption

Due to the excessive heat piston
expands and become tight in the
cylinder, lubricant squeezed causing
metal to metal contact called as

(A) Piston scuffing
(B)
(C)
(D)

Burnt piston
Broken piston
Melted piston
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IMPORTANT INSTRUCTIONS TO CANDIDATES

sefigarl & feru HExagut e

13. This booklet contains 40 pages.

14. Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

15. Mark your answer by shading the appropriate

circle against each question. The circle

should be shaded completely without leaving
any space. The correct method of shading is

given below.
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| The Candidate must mark his/her response
| after careful consideration.
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16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

17. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/

authentic.

18. Use the space for rough work given in the
Question Booklet only and not on the Answer

Sheet.

19. Youare NOT required to mark your answers
in this Booklet. Allanswers must be indicated

in the Answer Sheet only.
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